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TABLE 1 Rules of Inference.
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This is an argument that uses the addition rule. 4

EXAMPLE 4  State which rule of inference is the basis of the following argument: “It is below freezing and
raining now. Therefore, it is below freezing now.”

Solution: Let p be the proposition “It is below freezing now,” and let g be the proposition “It is
raining now.” This argument is of the form
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This argument uses the simplification rule. 4

EXAMPLE 5  State which rule of inference is used in the argument:

If it rains today, then we will not have a barbecue today. If we do not have a barbecue today,
then we will have a barbecue tomorrow. Therefore, if it rains today, then we will have a
barbecue tomorrow.




